INTRODUCTION TO LIMITS

1 Evaluate each limit.
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4 Evaluate each limit.
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5 Evaluate lim 'I-(x+h’:~ﬂx)whcrc:
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6 Show that the following limits do not exist:

1 o _ 0 for x<0 _ x*+1 for x>0
2 s FCakes B e i where fEx)=
(a) il«mox ®) i‘f}:ﬂx’ whiem 15) {1 for x >0 @ xlf«ll"(l) ) L 2 for x <0

\ AN 1l - _—eo - ’
a) %\:o"i — 40P - oez—ao‘x . \Luiu&
) tm  fB)=lm 0=0
7(—)0_ H—-=>0"
whoeod  Oom E(x):&‘m o= S0 Mof‘zcruwe
x—-0% wH=pbD*
9(__.—30" -0

owas gfx)zQw L+ = | /aom#ec]m!(-

')(_.—D O+ N— O+

7 The function whose graph is shown is: y
A discontinuousat x=0 Yoa -
B continuous forallx NO
C discontinuousat x=2 NO
D continuous for all x > 0 but discontinuous at x =1
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